#### **All Other Tuition & Fees**

#### 2016 - 17 Aviation Tuition and Flight Fees

Please note that Out-of-State per credit tuition is \$598.00 for 1-6 hours and \$833.00 for 7 or more credits. The following information is based on In-State per credit tuition.

Airplane Tuition and Flight Fees

#### **Airplane Course Tuition and Flight Fees**

COURSE Number/Name	Per-Credit Tuition / Per-Course Fees	Per-Course-Cost
SEMESTER 1		
AVT 115 (4 credits) Instrument Pilot Airplane Ground	\$550.00	\$2,200.00
AVT 116 (4 credits) Instrument Pilot Airplane Flight	\$550.00	\$2,200.00
AVT 116 - Flight Fee Instrument Pilot Airplane Flight	\$14,942.00	
AVT 116 - Examiner Fee Instrument Pilot Airplane Flight	\$800.00	Φ1.5.7.4 <b>2</b> .00
AVT 116 - Total Fees AVT 214 (1 credit) Private Pilot Instrument Sim	\$550.00	\$15,742.00 \$550.00
Private Phot Instrument Sim	Samastar T	otal:\$20,692.00
	Schiester 1	0ta1.920,072.00
SEMESTER 2		
AVT 204 (2 credits) Commerical Pilot Airplane Ground I	\$550.00	\$1,100.00
<b>AVT 217</b> (6 credits) Commerical Pilot Multi-Engine Initial I	\$550.00	\$3,300.00
AVT 217 - Flight Fee Commerical Pilot Multi-Engine Initial I	\$20,197.00	
AVT 217 - Examiner Fee Commerical Pilot Multi-Engine Initial I	\$800.00	<b>***</b>
AVT 217 - Total Fees		\$20,997.00
	Semester 1	otal:\$25,397.00
SEMESTER 3		
<b>AVT 205</b> (2 credits) Commercial Pilot Airplane Ground II	\$550.00	\$1,100.00
AVT 218 (6 credits) Commerical Pilot Multi Initial II, Single Engine Add On	\$550.00	\$3,300.00
AVT 218 - Flight Fee Commerical Pilot Multi Initial II, Single Engine Add On	\$20,213.00	
AVT 218 - Examiner Fee Commerical Pilot Multi Initial II, Single Engine Add On	\$800.00	

1 of 6

AVT 218 - Total Fees		\$21,013.00
<b>AVT 236</b> (1 credit)	\$550.00	\$550.00
Aircraft Preventative Maintenance	\$330.00	\$330.00
<b>AVT 260</b> (1 credit)	\$105.00	\$105.00
Fundamentals of Instruction	•	·
	Semeste	r Total:\$26,068.00
SEMESTER 4		
<b>AVT 215</b> (2 credits)	\$550.00	¢1 100 00
Flight Instructor Airplane Ground	\$330.00	\$1,100.00
<b>AVT 216</b> (4 credits)	\$550.00	\$2,200.00
Flight Instructor Airplane Flight	Ψ330.00	Ψ2,200.00
AVT 216 - Flight Fee	\$10,205.00	
Flight Instructor Airplane Flight	\$10,203.00	
AVT 216 - Examiner Fee	\$1,200.00	
Flight Instructor Airplane Flight	Ψ1 <b>,=</b> 00.00	<b>***</b>
AVT 216 - Total Fees		\$11,405.00
<b>AVT 225</b> (2 credits)	\$550.00	\$1,100.00
Flight Instrument Airplane Ground	400000	¥ - , - · · · · ·
<b>AVT 226</b> (2 credits)	\$550.00	\$1,100.00
Flight Instr Instrument Airplane Flight	***************************************	¥ - , - · · · · ·
AVT 226 - Flight Fee	\$7,168.00	
Flight Instrument Airplane Flight	4.,200.00	
AVT 226 - Examiner Fee	\$1,200.00	
Flight Instr Instrument Airplane Flight	<b>,</b> , , , , , , , , , , , , , , , , , ,	40.260.00
AVT 226 - Total Fees	6	\$8,368.00
	Semeste	r Total:\$25,273.00

TOTAL:\$97,430.00

### Helicopter Tuition and Flight Fees

## **Helicopter Course Tuition and Flight Fees**

	Per-Credit Tuition	
COURSE Number/Name	/	Per-Course-Cost
	<b>Per-Course Fees</b>	
SEMESTER 1		
<b>AVT 118</b> (1 credits)	\$550.00	\$550.00
Instrument Pilot Helicopter Sim	\$330.00	\$330.00
<b>AVT 120</b> (4 credits)	\$550.00	\$2,200.00
Instrument Pilot Helicopter Ground	\$330.00	\$2,200.00
<b>AVT 121</b> (4 credits)	\$550.00	\$2,200.00
Instrument Pilot Helicopter Flight	\$330.00	\$2,200.00
AVT 121 - Flight Fee	\$30,376.00	
Instrument Pilot Helicopter Flight	\$30,370.00	
<b>AVT 121 - Examiner Fee</b>	\$600.00	
Instrument Pilot Helicopter Flight	\$000.00	
AVT 121 - Total Fees		\$30,976.00
	Semester Total	1:\$35,926.00

SEMESTER 2		
<b>AVT 209</b> (2 credits)	\$550.00	\$1,100.00
Commercial Pilot Helicopter Ground I <b>AVT 210</b> (2 credits)	Φ <b>.5.5</b> 0.00	
Commercial Pilot Helicopter Ground II	\$550.00	\$1,100.00
<b>AVT 211</b> (3 credits) Commercial Pilot Helicopter Flight I	\$550.00	\$1,650.00
AVT 211 - Flight Fee		
Commercial Pilot Helicopter Flight I-R22 OR		\$14,769.00 <b>OR</b>
AVT 211 - Flight Fee		\$24,969.00
Commercial Pilot Helicopter Flight I-R44		\$24,909.00
<b>AVT 212</b> (3 credits) Commercial Pilot Helicopter Flight II	\$550.00	\$1,650.00
AVT 212 - Flight Fee	\$16,008.00	
Commercial Pilot Helicopter Flight II-R22 AVT 212 - Examiner Fee		
Commercial Pilot Helicopter Flight II-R22	\$600.00	
AVT 212 - Total Fees R22 OR AVT 212 - Flight Fee		\$16,608.00 <b>OR</b>
Commercial Pilot Helicopter Flight II-R44	\$26,508.00	
AVT 212 - Examiner Fee	\$600.00	
Commercial Pilot Helicopter Flight II-R44 AVT 212 - Total Fees-R44		\$27,108.00
	Semester To	tal:\$36,877.00 (R22) OR \$57,577.00 (R44)
SEMESTER 3		
<b>AVT 220</b> (2 credits)	\$550.00	\$1,100.00
<b>AVT 220</b> (2 credits) Flight Instructor Helicopter Ground	\$550.00	\$1,100.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight	\$550.00 \$550.00	\$1,100.00 \$1,650.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee		
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight	\$550.00 \$14,985.00	
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22	\$550.00	\$1,650.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR	\$550.00 \$14,985.00 \$1,200.00	
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44	\$550.00 \$14,985.00	\$1,650.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee	\$550.00 \$14,985.00 \$1,200.00	\$1,650.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00	\$1,650.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit)	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00	\$1,650.00 \$16,185.00 <b>OR</b>
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit) Fundamentals of Instruction AVT 261 (4 credits)	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00 \$1,200.00 \$550.00	\$1,650.00 \$16,185.00 <b>OR</b> \$24,636.00 \$550.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit) Fundamentals of Instruction	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00 \$1,200.00 \$550.00 \$105.00	\$1,650.00 \$16,185.00 <b>OR</b> \$24,636.00 \$550.00 \$420.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit) Fundamentals of Instruction AVT 261 (4 credits)	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00 \$1,200.00 \$550.00 \$105.00	\$1,650.00 \$16,185.00 <b>OR</b> \$24,636.00 \$550.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit) Fundamentals of Instruction AVT 261 (4 credits) Advanced Aviation Meteorology	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00 \$1,200.00 \$550.00 \$105.00	\$1,650.00 \$16,185.00 <b>OR</b> \$24,636.00 \$550.00 \$420.00
AVT 220 (2 credits) Flight Instructor Helicopter Ground AVT 221 (3 credits) Flight Instructor Helicopter Flight AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R22 AVT 221 - Total Fees R22 OR AVT 221 - Flight Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Examiner Fee Flight Instructor Helicopter Flight-R44 AVT 221 - Total Fees-R44 AVT 221 - Total Fees-R44 AVT 260 (1 credit) Fundamentals of Instruction AVT 261 (4 credits) Advanced Aviation Meteorology	\$550.00 \$14,985.00 \$1,200.00 \$23,436.00 \$1,200.00 \$550.00 \$105.00	\$1,650.00 \$16,185.00 <b>OR</b> \$24,636.00 \$550.00 \$420.00

AVT 231 (2 credits) Flight Instr Instrument Helicopter Flight	\$550.00	\$1,100.00
AVT 231 - Flight Fee	\$9,559.00	
Flight Instr Instrument Helicopter Flight AVT 231 - Examiner Fee	Φ.(0.0, 0.0	
Flight Instr Instrument Helicopter Flight	\$600.00	
AVT 231 - Total Fees		\$10,159.00
<b>AVT 236</b> (1 credit)	\$550.00	\$550.00
Aircraft Preventative Maintenance		T ( 1 012 000 00

#### **Semester Total: \$12,909.00**

# TOTAL: \$105,617.00 (R22) OR \$134,768.00 (R44)

#### **OPS Management Tuition**

#### **OPS Management Course Tuition**

COURSE Number/Name	<b>Per-Credit Tuition</b>	Per-Course-Cost
SEMESTER 1		
AVT 104 (2 credits) Private Air. Ground I OR	\$550.00	\$1,100.00
AVT 109 (2 credits) Private Heli. Ground I	<b>\$55</b>	Ψ1,100.00
AVT 122 (3 credits)	\$105.00	\$315.00
Fundamentals of Air Traffic Control	Semester Tot	tal. \$1 . 415 00
	Semester 10	tal.\$1,415.00
SEMESTER 2		
AVT 113 (1 credit) Private Pilot Heli SIM OR		
AVT 117 (1 credit) Private Pilot Flight SIM	\$550.00	\$550.00
AVT 123 (3 credits)		****
Air Traffic Control Tower Procedures	\$105.00	\$315.00
AVT 135 (3 credits)	0107.00	<b>#21.7.00</b>
Dispatch Operations	\$105.00	\$315.00
<b>AVT 261</b> (4 credits)	¢105.00	¢420.00
Advanced Aviation Meteorology	\$105.00	\$420.00
	Semester Tot	tal:\$1,600.00
SEMESTER 3		
<b>AVT 124</b> (3 credits)	\$550.00	\$1,650,00
<b>AVT 124</b> (3 credits) Fundamentals of ATC Radar Operation	\$550.00	\$1,650.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits)		,
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design	\$550.00 \$105.00	\$1,650.00 \$315.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits)		,
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design	\$105.00 \$105.00	\$315.00 \$315.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits)	\$105.00	\$315.00 \$315.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits) Dispatch Operations II	\$105.00 \$105.00	\$315.00 \$315.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits) Dispatch Operations II	\$105.00 \$105.00 <b>Semester To</b>	\$315.00 \$315.00 tal:\$2,280.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits) Dispatch Operations II  SEMESTER 4 AVT 201 (3 credits)	\$105.00 \$105.00	\$315.00 \$315.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits) Dispatch Operations II  SEMESTER 4 AVT 201 (3 credits) Aviation Management	\$105.00 \$105.00 <b>Semester Tot</b> \$105.00	\$315.00 \$315.00 tal:\$2,280.00
AVT 124 (3 credits) Fundamentals of ATC Radar Operation AVT 200 (3 credits) Airport Operations & Design AVT 245 (3 credits) Dispatch Operations II  SEMESTER 4 AVT 201 (3 credits)	\$105.00 \$105.00 <b>Semester To</b>	\$315.00 \$315.00 tal:\$2,280.00

AVT 247 (3 credits) Flight Service Specialist	\$105.00	\$315.00
AVT 260 (1 credits) Fundamentals of Instruction	\$105.00	\$105.00
	\$	Semester Total:\$1,050.00
		TOTAL:\$6,345.00

## HELI-TO-AIR Transition Tuition and Flight Fees

## **Heli-to-Air Course Tuition and Flight Fees**

COURSE Number/Name	Per-Credit Tuition / Per-Course Fees	Per-Course-Cost
SEMESTER 1 AVT 217 (6 credits) Commercial Pilot Multi-Engine Initial I	\$550.00	\$3,300.00
<b>AVT 217 - Flight Fee</b> Commerical Pilot Multi-Engine Initial It	\$20,197.00	
<b>AVT 217 - Examiner Fee</b> Commerical Pilot Multi-Engine Initial I	\$800.00	
AVT 217 - Total Fees	Semester Tot	\$20,997.00 ral: <b>\$24,297.00</b>
SEMESTER 2 AVT 218 (6 credits)		
Commerical Pilot Multi Initial II, Single Engine Add On	\$550.00	\$3,300.00
AVT 218 - Flight Fee Commerical Pilot Multi Initial II, Single Engine Add On	\$20,213.00	
AVT 218 - Examiner Fee Commerical Pilot Multi Initial II, Single Engine Add On	\$800.00	
AVT 218 - Total Fees	Semester Tot	\$21,013.00 ral:\$24,313.00
SEMESTER 3 AVT 290 (6 credits)	\$550.00	\$3,300.00
Commercial/Instrument Flight Transition <b>AVT 290 - Flight Fee</b> Commercial/Instrument Flight Transition	\$21,405.00	, , , , , , , , , , , , , , , , , , , ,
AVT 290 - Examiner Fee Commercial/Instrument Flight Transition	\$1,200.00	
AVT 290 - Total Fees	Semester Tot	\$22,605.00 ral:\$25,905.00
	ТОТА	1 074 515 00

TOTAL:\$74,515.00

#### Additional Equipment

#### **Additional Cost for Airplane Operations:**

No additional fees are associated with the airplane courses listed above. With the exception of books and general school supplies, costs for all other essential items students will use over the duration of the program are included in the above stated flight fees for the Airplane Operations Program.

#### **Additional Cost for Helicopter Operations:**

No additional fees are associated with the helicopter courses listed above; however, in addition to the cost of books, students must purchase the following essential items to use over the duration of the program:

Item	Approximate Cost
Flight Suit	\$200
Headset	\$300 - \$1,200
Kneeboard	\$10 - \$50
Stopwatch/timer	\$10 - \$50
Survival kit	\$10 - \$200